HOSE BOOM 20° OVERHANG star

DESCRIPTION QTY.

. 5/16" TAP BOLTS

. # 05 U-BOLTS 1 3/8" CENTER
. PLATE FOR # 05 U-BOLTS

. 1/4" WASHERS

. 1/4" TAP BOLT

. 3/8" BOLT

. 1/4" NY-LOCKS

. 3/8" NY-LOCKS

ONOOUL b WN
NFENWRANDAR

9. NYLON STRAIGHT-BARB X MALE 1
10. NYLON 90-BARB X MALE 1
11. NYLON STRAIGHT-BARB X BARB 1

12. HOSE, HOSE KIT 2
13. HOSE, DROP 25’

14. 6 5/8" BRACKET W/2’ TANG 1

15. OETIKER DROP HOSE
16. OEITKER HOSE KIT
17. GEAR CLAMP

=N =

18. BOOM W/60 BEND

19. CROSS BRACE 1" X 144"

20. BOOM BRACE 3/4" X 72"

21. BOOM BRACE CLAMP

22. 5/16" NY-LOCKS

23. TRUSS ROD BRACE 1" X 144"
24, #04 U-BOLT

= N

“Innovative Irrigation Solutions” %5) — AN

&
$BCOMBACKS



